B " £ THAFEE-ZF445 FHTEFEEMBERNERBE

R—1) 24 MNo

. THS No

L= kMo
F—Uvs4a No. 2 a‘ﬁﬁﬁﬁ‘ M= ¥ @ 35° 19.9
X B B i 37 BF U 9 BT Er R B B 0N R WEHM| s 5% 5H 15 ~ 5# H A |3 ¥(136° 1" 47.3"
= BRASHBEAFER=FAF b B 15 =] T R=-1) cspro S
MELES e e eum| #m e FIE T2 =m oEw
g £ |80 it o #h {E |- ] NI— G ke
AR ® S| g8 F“’L o % g oo DO-D % FEA FEB R TRHE
2 an e d T o S TEQOOV-E x 1 G-
R E K| 060m| e . Al s &2 | TvoY TFO0V-E i g BG-3B
B | % | # + || H|#H HE O E A AR IR A OBAEER
i e i Bt
" A N i R B
R & | 7| B # - / N
o “ 0 (10]20 e || EE H
# [e]ef|x o
(m) | (m) | (m) [ (m) | B® | %7 i3 % H (m}|10{20{30] '%l::. > P : o 0 o ™|\ /@ | % il
Sl | E
| 3
|
e I I I S | 3
é" =
| 20|20 60| —1—— WS | oo
B0 |57
1445
l15s| 10| 14 e DBt | N SR — i
a0 |35 (c
1545 R 3
15| 17) 20| 21| 58 ~ || ___] =
30 |55 o — E
IR . ——— e s ree | ) SOSRSSIIN 3
w 0 19 ‘?I’ 3
é 3]a| 10 | N I I S R ) S — E
== % |10 S
18.45 I ... E
jgs| 18 (18| 24| 60 — [ [ N e
9 | 79 |62 —
19.44 3
20.06 EEN I I3 I I ) I I N R S SR A 3
B 67 ]
0x 3
a2 (22|21 |60 | |— 1 Wt 0 0| =
G0 |60 E
o c< ___________ F
i - _
w» 51 rzﬁ’
B E
41 (3{________ ___________ __
90 — 1 R e 3
lagys| 23|13 13| 39 SN | F--------—1 =]
30 |39 <~
245 - 3
ms|17|19(23| 68 | ——— W~ W (o =
i 59 \9
H4s 3
3323 4
el 2 82 e —
=23 3
“oE lanss| 6 | 17(17 | 40 | p B
= F 30 |40 " 8
R 3045 T



byoinseibi
テキストボックス
№２

byoinseibi
線

byoinseibi
テキストボックス
N値　30

byoinseibi
長方形

byoinseibi
テキストボックス
11m--17m

byoinseibi
長方形

byoinseibi
テキストボックス
19m以深




